Suggested defence to Myxis 2 Openings.

2C = GF or wk D, or strong club, or 5/5 H/S (strong or weak) or 19-20 balanced
X= Take out of diamonds

All suit bids, opening hand and 5+

2NT, 16-18 Balanced with stopper in weak option
2D = 8 playing tricks D or wk H or 5/5 C/S (strong or weak) or 20-21 balanced
X= Take out of hearts

All suit bids, opening hand and 5+

2NT, 16-18 Balanced with stopper in weak option
2H = 8 playing tricks H or wk S or 5/5 C/D (strong or weak) or 23-24 balanced
X = Take out of spades

All suit bids, opening hand and 5+

2NT, 16-18 Balanced with stopper in weak option
2S = 8 playing tricks spades or wk C or 5/5 D/H (strong or weak) or 25-26 balanced
X = Take out of spades

All suit bids, opening hand and 5+

2NT, 16-18 Balanced with stopper in weak option
2NT = 5/5 in Non touching suits (strong or weak) or 27+ balanced
Treat as 5/5 weak option

X= 15+
All suit bids, opening hand and 5+

After openers response you are aware of exactly what the bid shows.



